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Cluster: 0017 ptr; resid: 0.46; r/c: 38/54

x.range

upstream meme PSSM #1; e=2.6e+05

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16

x.range

y.
ra

ng
e

upstream meme PSSM #2; e=3e+05

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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1634328652

1143

14242

14760
14898

15310

15422

1875

25856

35370

37164
37765

39571

42825

43897
45708

46013

46607

47256

47264

47612
47664

47667

48379

48425

48492

48495

48938

49133

49265

49579

49907

50021

50252
54150

54486

54998

string −500 −400 −300 −200 −100 −1
25856−0.03
42825−0.03
35370−0.05
48938−0.06
47612−0.07

1143−0.09
14242−0.12
46013−0.14
47264−0.14
37164−0.15
43897−0.16
54998−0.18
39571−0.18
15422−0.21
48379−0.24
46607−0.25
48425−0.31
28652−0.34
50021−0.41
47664−0.42
49133−0.46
50252−0.51
48492−0.54
16343−0.61
47667−0.65
47256−0.66
45708−0.66
14898−0.71
15310−0.77
49579−0.90
48495−5.48
54486−5.89
37765−6.03
14760−6.30
49907−6.68

1875−6.76
54150−6.79
49265−7.62

log10(P) upstream meme1 2 log10(P.clust)=−1.62; 38 seqs; 38 uniq
c(0.5, 2.5)
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